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P g SR
2 W B #E7E Boal R
By 3% S FI074£06 7 16 H eI Dt e/ 91 h (Biir)
fh 4 JE Hh = (Mo | E=E e T fE g2y ]

X R JEE I 10. 00| AHxf 350 3, 500 1, 557
IENE O 10. 00| AHxf 530 5,300 2,160| 1,826 540
H ¥ E % 15. 00 | AH%F 397 5,955 1,404| 1,145 1,026

T oD o 12. 00| AHxf 20 240 756
ESF AWII--N o JE 0. 20 | FHxf 280 56 108 105 86
H % i 3. 00| FHxf 24 721 1,620 1,535 1,512
H A ] 1L 1. 00| FHxf 225 225 756 377 194
= | 5.00| FE%F| 6| 30/ 1,890 1,215 1,080
A X Bk 5. 00 | FHxt 1, 046 5,230 2,268| 1,766 648
o o.00| fxr|  226] 52| o72|  s10| 594
= =% 4. 00| AHxf 1, 267 5,068 1,458| 1,279 648
[ 1N 5 5. 00| FA%F 278 1,390 1,620| 1,276 864
EN N 500 fxh | 3s2| 1,910 1,944 1,617 864

~7 b= b M 3. 00 [ FHx%} 36 108 1, 404
SR w o T 1. 00| FHxf 20 20| 3,024| 2,970 2,916
e £ I& 10. 00| AHxf 135 1,350 1,728| 1,596| 1,512

A—=T 4 £ % 10. 00| AHxf 50 500 1, 188
£ A L 10. 00| AHxf 716 7,160 1,674| 1,484 1,296
L&A £ % 10. 00 | #B56f 1,237 12,370 1,188 1,009 324
P=—1F &k % 4. 00| AR} 745 2, 980 972 778 756

+Lxon =S 4. 00| FHxf 6 24 6, 480
AEMEE w5 0. 10| #Hxf | 2,550 255 162 119 65
ZDXH E % 0. 20 | FHx} 900 180 59 56 54

LU E % 0. 20 | FHx} 150 30 78
K A Fosk L 10. 00 | #H%f 21 210 8,100 6,393| 4,644
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P g SR

ESR S TR = 1 =i Q1 IV NI )
RHE S FI074£06 7 16 H EFER S 25 kv (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

FI30 T X K 0. 30| FH*} 500 150 529 460 410
RIS B 15. 50| FAxf 250 3,878 5,184| 4,662| 3,564
/NEPE I o 10. 00| AHxf 50 500 4,860| 4,514| 3,564
Avara 7 4 U E | 13.00| fH%f 8 104| 4,104| 3,658| 3,132
S X EF I 0. 25| A%} 1,901 480 594 520 140




